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SARDAR PATEL UNIVERSITY
B.Com. {111 Semester) Examination
Tuesday, 5" January 2021
02:00 pm - 04:00 pm
UB03CCOMS1-Fundamentals of Cost Accounting

. Total Marks: 70
Note: (1) From the following eight questions, write any four question's answer.
(2) All questions carry equal marks.

- | Que.1.What is Cost Accountanéy? Describe the advantages and limitation of Cost
Accounting. '

Que.2(A). Explain; Methods of Cost Accounting.
(B). Describe: Element of Cost, Cost Unit and Cost centre.
Que.3. (A). Explain: ABC Techniques.

(B). Worker is allowed 18 hours to complete a job on time wages. He completes the
job in 12 hours on piece wages. His time wage is 1.50 Rs. per hour.

Material Cost of a product is Rs.24 and factory overheads are recovered at
200 % of the total direct wages. '

Calculate the factory cost of the product under:

(1) Piece wage plan.
(2) Halsey wage plan, -
(3) Rowan wage plan.

Qued. (A). Discuss: Causes and Remedies of Labour Turn Over.
(B). From the foﬁowing information calculate:
(2) Re-order level.
(b). Minimum stock level.
( é}. Maximum stock level.
(d} Average'stock level,

-(e). Danger stock level.

(1)




(1), Maximum delivery period 45 days.

(2). Average delivery period 35 days.

(3}, Minimum delivery period 25 days.

(4). Maximum delivery period for emergency purchase 5 days.

(5). Maximum rate of consumption per day30 units,

(6). Average rate of consumption per day 23 units.

(7). Minimum rate of consumption per day20 units.

(8). Ordering quantity 600 units.

Que.5. In a factory there are three production departments A,B and C, and two service
departments > and E. The details of the expenses during May 2020 are as under.

Factory Manager’s salary 60,000
Power 72,000
Depreciation of Machine 59,400

Contribution of E.S.I. 22,000

Rent and rates 40,000

Lighting 32,000

Canteen expenscs 12,000

Insurance 13,200

Indirect wages . 3p00

Other information: " L

Particulars A B C D E

1. Lighting points 6 5 4 3 2
2. Direct wages Rs. 4,500 | 4,200 -] 3,000 1,200 300
3. Cost of Machine Rs. 72,000 | 48,000 | 36,000 | 1,200 | 1,200
4, Horse power of machine 400 600 200 -
5. Space ocenpied sq. fi. - 6,000 4;000 : S,OGO 3,000 | 2,000
6. Proportion of time devoted by 10 '8 6 4 L2
factory manager
7. Number of workers 50 60 40 30 20
8. Working hours 400 300 500 - o~

o)




‘The benefit of the service department D and E is derived by the other departments in the
followigg_ proportion.

Department | A B C D HE
D 20%  |30%  J40% .- 10 %
' 0%  |40%  130% |-

Prepare statement showing:

(1) Distribution of overheads to various departments,
(2) Distribution of expenses of service department to production department.
(3) Calculate the machine hour rate of production department A, B and C.

Que.6.Following are the particutars of one machine for the month of May 2020. From that
calculate machine hour rate. o

(1) Cost of Machine Rs. 10,80,000
(2) Scrape value after its estimate [ife Rs.2,10,000
(3) Estimated annual repairs and maintenance R, 12,540 -
(4) Monthly rent of ‘factory Rs.7,250
(5) Monthly salary of a worker Ris.1,050 - _
. (6) Monthly expenses of the chemical used to run this machine Rs. 1,900
. (7) Monthly indirect expense Rs.3,500 ‘ 3
- (8) Annual insurance premium at the rate of 1 %
(9} Estimated Life of machine 2,00,000 hours
(10) ' Monthly working hours 2,000
iy Setting up time of this machine100 hours

(12) Power consumption is 5 units per hour and rate per unitis 1.50 Rs.
(13) Four workers who are working on this machine also take care of two other
machines.

(14) Machine occupies 1/5 space of the factory._ '

Que.7. The following particulars are obtained from the books of Raja Ltd. For the year
2019.

Production and sales 2,400 units
Direct materials Rs. 3,21,600
~ Direct wages Rs. 2,04,000
Direct expenses Rs. 28,800
Factory oyerheads {60 % fixed) 2,(}4,000
Office overheads (fixed) ﬁs.l, 15,200
Selling overheads (80 % variable ) Rs.48,000

Rate of Profit on sale 20 %
(®)




For the year 2020, it is estimated that-

(1) The Production and Sales will increase by 3,600 Units.

(2) Direct Materials per unit will rise by Rs.18.

(3) Direct wages per unit will fall by Rs. 20 %.

(4) Fixed factory overheads will be increased by Rs. 4,800.

(5} Variable selling overheads will increased by Rs.1.60 per unit.

(6) The rate of profit on cost will remain same as per the prévious year.

Prepare:

1) Statemént of cost showing total as well as per unit cost and pfoﬁt for the year 2019.
(2) A statement of cost showing estimated profit for the year 2020.

Que.8. (A). From the followirig.data prepare a reconciliation statement

(1) Profit as per cost accounts Rs.1,50,000 -

(2) Works overhead under recovered Rs.10,000

(3) Administrative overhead under recovered Rs.23,000

(4) Selting overhead over recovered Rs. 20,000

(5) Over valuation of opening stock in cost accounts 15,000

- (6) Over valuation of closing stock in cost accounts Rs.8,000
(7) Interest carned during the year Rs.3,500 '
(8) Rent received during the year Rs. 27,000
(9) Bad debts written off during the year Rs.9,000 4
(10) Preliminary expenses written of during the year Rs.20,000

(B). Discuss: Need for reconciliation.
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